Part # 12310/12315

YZF600 SOLO SEAT 96 on

Fitting kit contents:

1 x pair of brackets CFK12315

2 X M6 x 16mm Allen screws CBOLM®60008
2 X M6 washers CWASM60003
2 x ¥2” x 12 self tapping screws CSCR0002

2 x M6 flat washer CWASM60001
2 X rubber trim (long) CTRIMO0002

2 X rubber trim (short) CTRIMO0002

Fitting instructions

Release the seat and place upside down on a flat surface. Position the brackets as shown in the diagram
and drill a pilot hole for the self tapping screw using 1/8 inch or 3.5mm drill.

The brackets can now be attached using the self tapping screws and steel washers provided.
Note: the bracket marked 3 fits on the right side of the bike.

Now attach the two longer rubber trims to the cowl edges just below the seat pad. Fit the cowl using the
M6 x 16mm bolts and countersunk washers. Fold the aluminium tag down over the back edge of the seat
to secure the back of the cowl.

The seat can now be re-fitted to the bike. Note that the two short lengths of rubber trim are provided to
prevent chafing at any points where the cowl edge comes into contact with the panels.

FOLO Bhck SEAT cougtag

,- - O Mo RAMKET TD ST
AT o~y THE ng'n(_g%é

=
(. RicHuT sipe Sl ET

'S SHoran HmE | neg)

7



